—

| A B C D E
number 16 x 2 sl A D. X3 30 = 5 S x o
204 x 7 20 + 5 7 x6 .28 - 4 48 - 6
gt e 318 x 3 182 9x5 18 = 6 9 x 8
' 42 x 9 24 = 7 x 8 3 =73 42 =3
SPEED TEST 5|6 x 6 e e 5 9 % 5 25 =5 6 x 9
Try to beat the clock 6/4 x 8 36 ~+ 3 x6 15 = 3 ‘36 - g
' 712 %4 ~ 247~ 4 9 %9 42 =~ ¢ 5 x 8§
85 'x 7 12,2 6 x-5 72 - 9 63 =7
914 x 3 .28 = 7 - %A 45 =~ 5 4 x 5§
10| 6 x 4 32 + 8 8 x 9 56 - 8 56 =7
11{3 x 9 14 + 2 89 x6 3B+5 4xg
1218 x5 16 = 4 3><8. 27 - 3 | Y )
132 .x 7 49 = 7 5% 4 24 -~ 6 6 x 7T
1456 x 9 .18 + 3 7x9 64 - 8 45 =q
15[4 x 4 48 + 8. 8 x 8 32 - 4 8 x7 3
16/ 6 x: 8 40 = 5 4x6 81 = 9 72 :8
17] 7 %3 16 & 2 9 x3 54 - B 8 x§
18/ 8 x 2 36 - 4 8 x 4 .?_O+4 40 3
1919 x 4 21 + 3 7 x5 .24 = 8 2.7
ch{_\. 20[7 x 7 27+9. 3><.7. - 63 = 9 54:,—?)‘3
] . Make sure you know the multiplication and division tableg,, }.-
‘ ) 0 Practise again and again until you can write the enswers s 7
H 'mmottﬁs correctly and also beat the clock. ' %




